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7.

10.

11.

| d
stion i ices. Of these, you have to select oné correct answer an
B b St - for the question. If more than one

mark it on the Anewer Sheet by darkening the appropriate circle ‘
circle is darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to mal;e
heavy black marks to fill the circle completely. Make no other stray marks. Use of whitener 18

prohibited. If used, it will lead to invalidation.
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e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

<o ma»s&mmaglsm(memnydomm&@oommgmam:
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Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.
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Calculators, MathematicalLog Tables, Mobile Phones, Bluetooth instruments or any other
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GS/1G/100
Part A
History and Culture
1. During the Indus Valley Civilization, the

beads manufacturing industry was located at

(1) Dholavira
(2) S\lklﬂg(\ndor
(3) Chanhudaro
(4) Daimabad

2. Select the correct statements « plous

beliefs of the Rig Vedic Period :

I.  Dyus was a celestial God of the Rig
Vedic Aryans similar to Jupiter of the

Greeks.

II1. Prithvi was considered as the mother of
all Gods.

IITI. Agni was worshipped as  the
intermediary of taking the offerings to
the deities. 8

IV. Cow sacrifice was also the part 'of
worship.

(1) I,II and III only

(2) II, III and IV only

(3) I,III and IV only

(4) I, II and IV only

3. Match the following schools of philosophies
with their theories :

a. Sankhya I. Predetermined fate
theory
World was formed by the

blending of nature

b. Vaisheshika IL

c. Lokayata IIL Considered Atom as
basis of the world
d. Ajivika IV. Advocated materialistic

ideology

Choose the correct answer using the codes
given below :

a b c d
a 1 v I 111
2 I 1 v I
@3 I I II I
@ ur 1 IV 1

(4)

3.

>PA
2756 So605 036

208 S'a S H0ES s0od, Ide Scird
DO DEY S GOTE
1) Seds
(2) n8200b
oot
Bsorerd
207 55 SO DS T IO HoPoBoDD
OBS g HBotob :
I ASoerd 27Deb S8 2awhiid 8030
BO5TR BS50S Ty
IL H9bsd BIsse0c8s SO 2rdoT 8.
1L B308 JSES0H SED I
5558 e3A) SFRoT .
IV. 599 2O owS o &ra s o
GOTA.
I, II o8 s IIT S
II, III 8050 IV S
1, IIT SH8 05 IV 37530
(4) I, 1108050 IV SH&

Bo8 Ioos FTpoOD T8 dFomos
2S$TODOS : F

(4)

(6))
(2)

a OPS I S0OB PSS 3852
oo
b, S3NE  II. (D¥S EoonsS
(DD00 D5YA0D
e, S'SODS I DY (DDOTRE
D RHOEM HOKBT S
d. 82J5 v, TREITAD TS er)
DS Bo>
OHS ADLDES FEOD &ITITH0D IBS
HIFTTR) DOHTFOA :
a b c d
(1) 1I v 1 111
(@ 1 111 v 1
3) IV 111 11 I
(4) I I v 11
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4.

Hathigumpha inscription of Kharavela gave
the details of irrigation facilities provided in
the Kalinga Region by

(1) Mahapadmananda

(2}  Bimbisara

(3)  Ajatasatru

(4)  Ashoka

Select the correct statements regarding the
ingcriptions of Ashoka :

L. They are in Brahmi, Kharosthi, Greek
and Aramaic scripts,

II.  The Monarch's name was mentioned as
Ashoka only in Maski and Gurjara
inscriptions.

III. The XIIT Rock edict mentioned the
names of the five Greek Rulers as his
contemporaries,

IV. The IV and V edicts mentioned the war
of succession with his brothers,

(1) 1,11 and Il only
(2) II, III and IV only
3) 1,11 and IV only
) T,Tand IV only

Match the following books with their authors :
a. Prajnaparamita 1. Acharya Kundakunda

b, Samayasara 1. Sarvavarma

c. Lilavati HI Acharya Nagarjuna
Parinavam

d. Katantra IV.Kuthuhala
Vyakaranam

Choose the correct answer using the codes

given below :

a b c d

(y m I LS V'

12) I 1 veon

@ m I vV q

(4 1 I I

v

(5)

(al

4 ro3end FHHoD TG0 $Qof rsod’

A5G £Dy00s A8
SengHnod
St H& 808

2) DoAY

(3) ezrddehd

(49 oF%

STHA TIHITON A0OHOD DB

asegen flodol

L ed2ir 28D, (18 wshs Ojod
D) 0.

1L oHd 0T o by, 16 T
AraES D SaB08.

I, 585758 2eraRsod’
0HE BSOS g redie H
2 Sagron.

IV. &enlh, 0dS Iorriad @) Ssme
2ESg 2BAS EHS 3 AAFren
DS an.

(D) L1 265 1T S

(2) 11 11T 8050 IV Sres

JThoe S0

LB LT 8ck» IV A

4) LI 8akn IV Smesh

Bod RELS) (oo o Sondes
2STIafoam ;

L BT IENS L e
Yodsoo
b. oS I, $8556;

¢. OUrIB HORADO IIL BoE; S
d. séo|& 8o IV, SHdrare

A0S adspdd Shod andiriod BB

QTR DoNFod -
a b c d
(1) Im | I v

(2 1 11 v I

@mx v o

4 1 II 1 v
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Which of the following was nof the feature of
tho Guilds during the Gupta Perind 7

0 Minted Coins

(2 Nov Autonomoun Dodies
(B Maintained Armed Bodies
(4 Worked nn Bankers

Tho account of Greek (Yoavann) invasion

during the reign of Pushiyamiten Sunga is
available in :

1 Gargt - Sambita
1L Patanjali - Mahabhashyn

L Kalidasn - Malavikagnimitra

IV, Visakhadotta = Mudrarakabasa
Choose the correct nnswer using the codes
given below ;

(1) LI and 111

(2) 1L, 11 and IV

(3 LI and IV

) LITand IV

Choose the correct statement regarding

Nalanda  University at the time of
Harshavardana :

(1) Harshavardana donated 10,000 yillages
to the university. Y
The number of teachers in  the
university were 15,000,

Silabhadra was the Chancellor of the
university. :

(4) The medium of instruction was Pali,
Match the following taxes :

Name Tax
n. Navidadere I. Tax on Marriage
b. Melivamsam Il. Tax on Barbers
¢, Mancvana I11. Tax on Ploughs
d, Tudimeya IV, Tax on Houses

(2)

(3)

Choose the correct answer using the codes
given below :

a b ¢ d
(1) M 111 v |
2) Il v 1 |
3 1 1} v I
(4) I

AY 1 I

(6)

7

H.

10,

(2]

Bt 88 D8 fme suoTd Fomo
050 5

(1) SBoDS >Ean
@) %1050 1H85% B Soped
(3) oG womed SO 5080
) st HTrdd

Harusd Hokd seod (A% (CHSS)
SoB0ITSE Ho0w000dS A3bo EIS
(STALS VIO

. md-500rs

I Sozd - SHdfrds
1L S0 -Sredsi)ans

IV. 7pid-SETES

B0 aSAS SHOD SIRFA0D JBS
DIPEER) JoHTO :

I, 11 So8ain HI

11, 1II sH8cin IV

(3) 1,11 SHoain IV

4 LIOS0a»IV

FESEHD sodnadd Svom
QDO OAHIVSE  Scnodod  JB/S
(D565 dohEod :

2)

(D P DY 3T HS0S%
' 10,000 [IP30"@ad it 20T A0,
(2) IPTIOOHOS' AT IS
0§ 15,000,
OB DE (Dorrech HoDd.
@ B> Srgiho 9.
1500 Sy 2B hdn -
2D alnl))
T Sdad 1 asmonsdn

b ds030 I oKD DY

¢ SR8 ML Gxegaz 530

4 SHaag V. Aydrined S
B3 ABAS FHersn asaricd BS

RTR) DOHEOA -

" b c d
@ DA M. v 1
@ I gy m 1
3) 1 1 v 1
W Wi n S
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11,

13.

Arrange the following temples of Ellora in

chronological order according to their time of
construction :

L. Ravan ki Khai
II.  Kailasanatha
III. Dashavatara
IV.  Dumar Lena

Choose the correct answer using the codes
given below : '

(1. ILIV, 11,1
(2) LILIV,II
(3) HOLLIV,II
(4) I TIVILI

Match the following terms with their
meaning related to village administration of
the Cholas :

a, Varivam I. Ward

b. Kudumba II. Lottery system

¢. Kudavolai I11. Member of the village
assembly

* d. Perumakkal IV. Committee system

Choose the correct. answer using the codes
given below :

a b c d
@ v m o
(2) 1 111 I v
@ v 1 nom
(4) 1 v 1 1l
Which of the following highways existed
during the rule of Kakatiyas 7

L Orugallu — Tripuranthakam — Nellore
II. Dwarasamudra -~ Ballayj Orugallu

1I1. Motupalli - Tripuranthakam — Ballari

V. Palnadu - Nﬂlgonda - Nekarikallu -
Orugallu

Choose the correct angwey using the codes

given below :

(1) TandIIonly

(2) IIand Il only

(3) I and IV only

(4) IandIVonly

(7)

11.

12,

13.

[A]

o Adoue sood  edtboor
perdom (808 Mo soaired
Do Sohod

L odedpdd

I, Berdad

I, &Srsed

V. b 8BS

AHS BN085 FHOD AdTriod HBD
DArFaR) dothFod :

(1) I, IV, 11, 1

1,101, IV, T

L1, IV, 10

I, IV, 11, 1

(3)
(4)

BHOO (M) HOTOSH HonoHODS 180d
Do o8 edood 2 How :

a. «0cdo L. o0
b. Sotnon 1., er&d Hda
¢ RESB L (e 25 dagch
d 20nES V. E2088 5559
OHS aJ5288 FhoD GIErlod HBS
RATEIR), oSO -

a b c d
(1) IV I I I
(2) 1I I I IV

v I I1 111
4 I v I Il

sfaoine Jod B8 &) 1HeW
ST DD ?

L 600 - 8300880 - It

I, s8AS0 - 2%y0 - Léuie)

L Irendd - | BYorosso - 2978

IV. Deryd -9 o - J8dEen - L.boen

B8 @95008 FHoL addiriod L8
JArraR) dorthsod

(1) 12805 I SresH

(2) 11005 HI Sressh

(3) 111 B8 IV Sressh

I 8ai0 IV Aresad
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14.

15.

16.

Which of the principles are common for Bhakti

and Sufi movement 7

1. Monotheiam
II.  Asceticism
1L, Religious tolerance

v,

Choose the correct answer using the codes

given below :

(1) LIl and 111 only
(2) 1L 111 and 1V only
(3) L, 111 and IV only
(4) I, 11 and IV only

Choose the incorrect pair regarding the foreign

chronicles of the Vijayanagara Period :

Desceribed the
conditions during
the reign of
Devaraya I

(1) Abdur Razzaq -

Described ey
the rule of Krishna
Devaraya

(2) DomingoPaes -

Wrote about the
conditions of
Vijayanagara after
the battle of
Rakshasa Tangadi

(3) Caesar Frederick -

(4) Nikitin - Visited during the

reign of Achyuta
Devaraya )

The Vijayanagra ruler who permitted Jesuits
to build churches at Nellore and Chandragiri
was '

Devaraya I
Venkatapati Raya 1]
Thirumala Rayq |

(1)
(2)
(3)

(4) Sadasiva Raya 11

Accepted the idol worship to some extent

8)

14, om mﬁ;.ﬁrg‘}‘ 2 oo OLren i

L 8 OYES

1, DA

L, Seh DI

IV, oSSt DB eofiitosdo

BhS ndspod FHOD BBEIMNOD HBS
BErara) dornsod |

(1 1,11 &0ck I NS
(2 11, 111 0ok IV S ebady
@ 1, 11 Hodako IV S edad
(4) 1,11 00k IV Ao ebady

15. Dzchadd serdd  Todd  dEcive
gres JF58 s ad Llodod :
(1) o8 - SSochell
S8 FOTT0 ¢S
HBR&D) Sforrthy
(20 Soft ~ Fy Bioabod
2R oo Sfoord
(3) 028 - oid sofid ango
L2808 Sorges o83 D2CHSAC
HOP RO | T
@) RBS - e DIocive
o g0
Sl @Eodm ST

16. JIPE, SoBABeE" 38 en ABIOWLE

B3OS O shHdds SIS
ared B8 ?

(1) S30civey 11
SoSLBBoramen II

ABDerorapey |
NEISO ey 11

(2)
(B}
(4)
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17. Which of the following incidents took place

during the reign of Jahangir ?

L The fifth Sikh Guru, Arjan Dev wns
sentenced to death

IL  Victroy over Rajputs of Mewnr

III.  Annexation of Kabul and Kandahnr

IV.  Arrival of English East Indin Company
to India

Choose the correct answer using the codos

given below :

(1)
(2)
(3)
(4)

1, 1 and 11T only
IT, I1I and IV only
I, III and IV only
L II and IV only

18. Match the following revenue officials during
the reign of Akbar with their duties :

a. Amalguzar L Kept records of the
revenue payable by tho
villages

b. Karkuns II. Revenue Collector

in-charge of a District
Accountant

Prepared the seasonal
crop statistics

118
v,

c. Qanungo
d. Bitikchi

Choose the correct

answer using the codes
given below :

a
11
4
1%
11

d
11
1
m
1

(1)
(2)
(3)

b
v
v
I
(4) I

W R S

19. The longest Trunk Road congtructed by

Shershah which still exigtg ;g
(1) Agra to Burhanpyy

(2) Indus to Sonargaon

(3) Agra to Chittor

(4) Lahore to Multan

(9)
17.

18,

19.

=]

-
25000 Dorgnod’ 1fod BS) D
NoauEISe S THbtorr o
I, RE® D65 Mt Mt oS E55 %
0O FE DOOSELO
arlh oo B Do
520 d, oGs0 o eslnomn 443
2000 &0 BoHOSr LD wol ...__: 5
afieH0 :
OHS @S50S FhHOD aLFE Rl é.}
PTG dotnY ol ; '
(1) 1,11 S508050 11T SmeSs,
(2) 11, TIT 808 TV 55t %,
(3) 1, 111 00D IV a3t
I, I So0as IV Somes s,
@50 swoxd Bod ‘e‘.‘%‘,-,.v 1 O3Srg b
QS o0 ard:séue =S dchod: B

1.
111
V.

a. ©5S Herd 1L Irsre O340 5D
) RV B ABESS0
b. 55 58 I B8y Sarean 48
TR LE 2T S
=R
c. Soff I, fesoc
d. DL, IV. S An s
Jobw DSCL
B eds dairdy
SIhoard
OhS BI85 Thershry asarfiod SBS
RATTETR) oHFOS -
a b ¢ d
I v I it
SR
3 1wv 14 1 m
4) 1m 1 v n
J3E  DODHD) HE i AWPEDD
DESS rob (1808 55
(1) e Sod anges 55
@) RoB% 0B FBro
(3)  eurQod O&s
(4)

SN0 Dod Sners
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20. Match the following books  with  their 20, L'!'»Ot‘.') ‘b&r’é&dé @0@‘0(&) ae3
nuthors ; Sonsed ud Schod
a. India 8t the Death 1. Irfan Habib n. 'Zledcﬁ)’o)ﬁ 6aéd 1, ?0’35
of Akbar : esh @85 >dHS
b. The Agrarian I, Francois Bernier b, OJHBCHS VD 1 BT
Sys?om of Mughal ah old woBalT, 20008
India, 1556 - 1707 1656 - 1707
c. Travels in the 1L, William Foster
Mogul Empire : e 1r36) 25 & IHS 111, 36"0&5)
AD 1656 — 1668 QoRb b
d. Early Travelsin IV, Moreland \4.4. 1656 — 1668
' India, 1583 - 1619 ‘
v b |erBS) a® b
% g}‘\;:s;e ::\5 .comd anewer using the codes d. 'aaé e 1%83-1619 Iv. Dol
= A R Bk adoos8 Fhod aldiriod 1B
an wm I 1 HATCETR) JochEod
2 m 1 v o a b ¢ d
@ v 1 1 11 m v, m e it
4 0 v 8% ) (2) I 1 v 11
VAR nm
21. The -following historian contended that 4 II v I 1
| Taj Mahal is a combination of European and (21 8o Gogsth =F Lird o8d
Asiatic genius : { shHore HE foond o WM
(1) Ralph Fitch 1 od)dd
(2) Tavernier (2) erBOYIoHG
(3 V.A. Smith DS
(4) Fergusson O DS
. 22, 808 B @d e5cdods
03, Match the following with the year they| — Q0SS)ESVOS" 26 HtbehHm :
were formulated : a S5 € Y
a. Famine Code . L 1881 2S5 1. 1881
b, Vernacular Press Act 1. 1878 b FASTR BB SHo 1. 1878
_ Charles Woad's Despatch :
“ Education prcim MR 1 2%"%6 00 &8) 11, 1883
d. 18t Factory Act IV. 1854 ‘] ' g
d 32 '
Choose the.wﬂ'ect answer using the codes 6.6 '&56‘5?0 IV. 18564
given below: . 8 335288 Shes avariod HBS
a b e d > Enil Q) JothEod ;
w W MWelunm g , . b c d
v 111 : (2) I 10
(3) I 1 oo : v Il
m I @ Vo
(4) v 1 m 1 Il
e T VAU |
A ‘;'




GS/11GNoo

%'

2‘.

given below

(BR

Arrange the following ineldents of Rolwllion
agninst East lndin Company i the Stide of
Hyderabad in chronalogien) ardor ;

L Attack of Turrebnz Khan on Heitish
Residence in Hydernbad

I Twprisonment of Mubarizasd-Dauln in
Golkonda Fort

L In Aurangabad, 1" Contingent Cavalry

was suspected, disnrmed and arrestod

IV. The rebellion of Rajn

Nayaka of Shornpur

Venkntnppn

Choose the correct nnswer using the codes
given below ;

(O IV ILLI
2y ILIN LIV
(3) ILLILIV

4) LI, v, m

Match the following Presidents of Indinn
National Congress with their meetings ;
a. Dadobhai Nooroji 1, Madras - 1887

b. Badruddin Tyabji I, Bombay — 1889

¢. George Yule IIL. Allahabad ~ 1888

d. William Wedderbur 1y, Calcutta — 1886

Choose the correct ankWer uging the codes

)

24,

n b ¢ d
m Ivoom
(2 m 1 Vs ¥y
@ w1 g
4 1 1 Gy

[A]

Wiy RoAGir fomdl H1addor ardoard

oot  Bhharen  HoMmeHeN)

Srerd o My s ;

I Frdoerd &R SO0 b 1Dt
IS VS TS AT A e

I Moo Pad Suer0s - allerd nol

dabhero

Lo SR WG il &vo,

20 DMINOE DOTCINGImT 135 0otie)

OG0

No%pD 8§ WOl orerioled) mrahs

adrberen

Ot AbbS FBOD GHErNod HBS

IV,

NI othod
(0 v, 115,00
(2) 1L, 1,1V
IL LTI IV
() LILTV, 11
808 2rde rdah srofth etiid) o0
‘1«76&'36'08 26 HEHLAD
0, roeron 30 I Lo - 1887
b, 2SS &) 11 Sowon - 1889
c. 20) ood 11 eestod - 1888
d. dDHD IV, geder - 1886
IG5 a6
A BS5088 ey andiriod NP
VARV JoT o .
n b © d
(M w om 1 1
@ m n v o1
@ w m u
@ n o moow
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25.

(12)

iji
The following hook was translated by Gandhiji | 25

with the tit]e Sarvedaya :

(1) John Rugkin - Unto This Last
i f God
2) LeoT v - The Kingdom o
: - i€« Within You
(3) Karl Marx - Das Kapital

() Maxim Gorky - The Lower Depths

Match the following newspapers with the
persons associated with them ;

a. Indian Sociologist I.  Virendra
Chattopadhyay

b. Islamic Fraternity 11, Shyamji Krishna
Varma

c. The Talwar I, Muhammad
Barkatullah

d. Swadesh Sevak IV. G.D.Kumar

Choose the correct answer using the codes

given below :
a b c d 1 s
(1) 1I I I AY
2y IV m I I
3) 1 v 1 1
4 1 11 111 v

The idea of Indian Constituent Assembly was
put forward for the first time by !

(1) Dr. BR. Ambedkar

(3) G.B. Pant
¢(4) M.N. Roy

[A]

Bod Hyes modd I65San 205
BAIAODN0D B :

@ 210G SRS - ®Q AR ery

@) O/ erSy - BLESH e s
erch 2 DedS At

@) S8y - oRiINed

@) SRy - A& Swms a3

o8 TH@%es, orese ROVOBODD

IROS BSHES I :
a. RGBS I dTBos
Facirean SED o

b, @YD (He838 II. T 2 E9R8)
c. OSersh

M1 odrain &
a8 e
d, DT DSE IV. 28 S506
Ahd ASBS Fhod aad@rion DB
N JOTHERS -
a b c d

@ I -m | v
2 1Iv I 11 I
3) 1 v I I
4) 1 I I v

27, 208 U200 53 eort BSWSD Tnssdm

NWeTall-\ S8 3
1 o Db ©0E,5

@ but.o

@ 2D
@) D0DF, ey
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29.

30.

Match the following authors with their
works :

a. Al-Biruni I.  Tarigh-i-Firoz Shahi
II. Tahqiq-i-Hind

¢. Ziauddin Barani 111 The Rihla

d. Tbn Battuta IV. Tabagat-i-Nasiri

b. Minhaj-us-Siraj

Choose the correct answer using the codes
given below :

a b c d
(1 1 v I I
(2) IV 11 I I
3) II v I I
(4) III I v 11

Which of the following institutions were not
established during the Non-Cooperation
Movement ?

I.  Besant Theosophical College,
Madanapalle

Jamia Millia Islamia, Delhi
IIL. Kashi Vidyapith, Benaras
IV.  Aligarh Muslim University, Aligarh

Choose the correct answer using the codes
given below :

IL.

(1) IandIlenly
(2) II and III only
(3) Il and1V only
(4) 1andIV only

The Indian Independence Bil) wag introduced

in the House of Common by the British Prime
Minister Attlee on

(1) 204 July, 1947
(2) 3 July, 1947
(3) 4th July, 1947
(4) 5 July, 1947

{13)

%.

L

(2]

Bod (omrod o8 Sdonded zd
0T ¢

n, ®©G-B%HR 1. =8m-a-95F

ey
b. aF-aF-hod 1L dirbd-n-2rod
¢. 2cradS 200 1L & BIer
d. @00 20008 IV, dariS.2-800

&S 25288 FAOD aHEriod HBS

dIrgrard) JochFod :
a b c d
@ o v I 11
2 Iv 0 1 I
3 m I 117/ S o
(4 m 1 V. 1
DA DUFEBS B Ddhohods (Bod
DoPOS’ DD D HoBDHTL

L 07208 dTrardss o828, H5850
IL 2oy 1O aarmcir, 30

7 et 56, B DD

IV, @dib 500 cdhrdss s, sdas

QDS RS 2AS Fheradh GHTHNoD JDN
RATTRR) J0thTod -

(1) T8k IT Sressh

1T 80 M S

111 S9B0%0 IV Smeszh

1 58050 IV Syes s

2706 R 5Soiss Depy P BED 8
TR 6D sHSS & sod 308
(BSOS ERRTATe

(1) 2278, 1947

@ 3 a5, 1947
(3) 4278, 1947

(4) 5278, 1947

(3)
(4)
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32,

33.

Part B
(‘.onstitution. Polity, Social Justice and
NMernational Relations

Which of the fullowing statements is correet

with :“::::ﬂﬁ “‘::N;:o State  Finance

Commimo n"

L ltis Mwquired to appoint a State Finance

Commussion once in five yoars,

I n eeommends the determination  of
taxes, duties, tolls and foes assigned to
the Punchayats and Municipalitios.
Article 243 deals with constitution of
finance commission to review financial
Position of Panchayats.

Choase the correct answer using the codes
Fi\’t'n below .

(1 IL I and IV

(2) LNlandI

(&) landil

(4)  All of the above

1L

Which  of the following  Amendment(s)
provideis) for reservation in
admissions ?

(1) 77th

(2) s N
3 81 ‘,
(40 All of the above N
Consider the following Assertion (A) and
Reason () and choose the correct code «

Assertion (A):
The President is the executive power of the
Union,

Reason (R}

The executive power of the Union shall be
vosted in the Presidont and shall b
exercised by him eithor directly or through
officers subordinate o him in necordance
with the Constitution.

Code:
(1) Both (A) and (R) gre truo nnd (R) g qhe
correct oxXplanation of (A),

Both (A) and (R) aro true, but (R) y ot
the correet explanggion of (A). :
(A i true, but (1) iy fulso.

(2

(@

(14)

jobs  and
- J2

() (A s finlso, bug () 1 truo,

33

>0

s,'ss?wa:“s' o, ¥ad aa}:) ©oh

wobyBIASS 8TAS)

O el J0arR8  N020G0D 8oh
S’ a6 PBSA ?
L ey 260 o) 808 Soird)
mO(yOb GaotLod,
11, :)00‘0‘)8. :).DQJQ'OQSOQ.) Beronodd
Heloy e, Ao5EY, B'Se, Gudnes
AowosAop Al M) Fos,
Somrchde edE H0DBH
Sabd osarRs Homranse ey Da
D) MBS D070 85 243
DIBY0H, :
O adads ¥hod astirfod QB
TR JothFod |
(1 11,111 bk 1v
(2) LI S8ak 1
3 I8aw 11
@) 23dy
GE ey, ofids’ 028508 oo &b
Rabeie)s’ D8 3808 7
1 7%
(2) 828
3 818
230
08 (IR (A) BBy sEmo (R)
20fdood. MBS §8% wothfod .
oS (A) ;
ORN8  chrdahS
©&s'00 5ON Hoerd,
500 (R);
BRSSO E
CRHB8 2l adhiios,
@560 &

@l

ghen :
(A) (R) Bodhr D230 (1) IO (A

@ OB DS 3

20 (), (R) Bogp 20, 8 (R)
(A0 OB Dstien sty e

SO g

B30
oargotio
T 8o &9 whdos’ agy
SO0 oo ey T,

(3
(4)
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34, Which of the following statements related to | 34,
the Central Administrative Tribunal are
correct ?
L It is a statutory body,
II. Its members are  drawn from

administrative background only,

. Tt is not bound by the procedure
prescribed in the Code of Civil
Procedure.

IV. Its jurisdiction covers the members of

All-India services ag well as Central
services and Central Government posts,

V. It was set up in 1985,

Choose the correct answer using the codes
given below :

(1) IILNIandV
(2) TandIV

(3) LI IVandV
(4) Iland Il

Which of the following statements is not one

of the powers of the Speaker of the Legislative
Assembly 7

(1)
(2)

He has no veto except in case of a tie.

A Speaker may be removed from office
by a resolution of the Assembly passed
by a majority of all the then members of
the Assembly after fourteen days notice
of the intention ¢, move such a
resolution,

(3) The Speaker vacateg his office if he
ceases to be a member of h, A ggombly.
The Speaker wi)) Preside when @

resolution for hig removal from office is

(4)

under consideratip, of the A bly.

0|0 d

35.

(A]

@51 DBS (205855
2020800 806 78S’ HBSD DD ?

L 20 30 NoY.
1. & Hhyod HdTrom dHdio od
S8 Snsooerdd.

20 S Phab F4S JArdods
QTS e84 dodhcs.

O 0058 HOH wde> 78S hdes
aen Bod NS, Boid (HEheds
Pe D £386 Fnoad,

V. 2019858 dorytn Sohadod.

ONS adiaa8 Shad SHTrAOD JHBS
QTR DOrDES

(1) I, TIT Sdcs» V

(2) T0cSwIv

1, 101, IV 508 V

(4) I 0akn 111

I11.

v,

f08 o8S" D (DELS THIDY HE6
OO oS 2583 524 2

(1) B IS 85 wadE HEst e,

2) o308 BoyTR) (HIrod
654508 14 Bxe S Sois
oodS'D @58 dsbiwosd
D208 GFrBoNS ewod Soyso
oo X5 & 58D &od
SoNoDVBSN),

056 e’?ooi)& HEpzdr Godso
SAS'S S HSI grd T

DEE DA Mod SIS Sofiod
8050 &008) $585036° GHVID
)55 ©G58 &S St b,

(3)
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36.

37.

(16)

Blection Commissaion | 30,

The powers of the
include whicly of the following ?

tnkos
L Th 3 Commission
do:isionl;lg: ?\‘;ry aspoet of conduct nnd

control  of  olections from tho
announcement of clections 1o the
declaration of results, -

II.  During the election period, the Election
Commission ¢an order tho Government
to dismiss somo government officials,

I, When on election duty, Government
officers work under the control of tho

Election Commission.

Choose the correct nnswer using the codes
given below :

(1) Tand1lonly
(2) Tand Il only
(3) Tlonly

(4)  All of the above

What is/are the provision(s) to safeguard the
autonomy of the Supreme Court of India ?

I.  While appointing the Supreme Court
Judges, the President of India has to
consult the Chief Justice of India.

II. The Supreme Court Judges can be

removed by the Chief Justice of India
only. ‘

II. The salaries of the Judges are charged on
the Consolidated Fund of India on wbich

the legislature does not have to vote,

Which of the statements given above is/are
correct 7

(1)

(2)
(3)
(4)

1 and 11 only
I and 11 only
111 only

1, and I

317.

[A]

O es GRS Ty Bos S
S EON dotron ?

L Q)80 (D85S Dot Hheme (HELS

D65  DAYEO DO, )80
NaHOoLS 5D

QOROLONS  |1HD
©00§oR IO Jodo Aciren
30506008,

L N8  ddchod, Toss08
Wihes wOFOON  Sofoorod
AEBY 13 D00 (20Er )
eB3F055t).

L 80 DS BOLDID, (HZoed
s ihen AL D00
ohHoSed HAT .

&S 255088 FHOD GHTriod BB

DSrEFR) JothEod

(1) T80 IT Sredsh

(@) 1580 1 Smesah

(3) 15D

@) DSV)

rés Do & HaboaHBd

HOGE.0T A0S (ew) Des ?

L D08 mrichrdeod

C QAhOT I, 2rEs T anD erdd
DS 77 5ahardR JolHBoSSOR
GOLN0A.

I, DO Frsahsardyesss 2r8s HE
30088 (83 Sonodio.

HL 99 23 860 Jabsets @3060 T
w0 SDE TS Hob wob 280
Aeren TOV %,

20 208 PaTosed’ D6

VAT R
L D0k 111 g7

(2 T8k 11 g3k

@ I amey,

4 Ll D8ty 1
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88.

39.

" (4)

(1
Which of the following are not included in the
original jurisdiction of the Supreme Court ?

L. Adispute between two or more Stotes.

IL. A dispute regarding clections to either
House of the Parlinment or that of

Legslature of a State,

NI, A dispute between the Government of
India and a Union Territory.

IV. A digpute between the Government of

v’

India and one or more States.

Choose the correct answer using the codes
given below :

(1) landll

(2) IlandIIl

(3) landIV

(4) IMandIV

The National Commission for Scheduled

Castes, while investigating any matter or
inquiring into any complaint, has the powers
on the following matters :

I It can receive evidences on affidavits.

II. It can requisition any public record from
any court or office,

1. It can issué summonsg for the
examination  of  witnesses  and
documents,

Choose the correct answer using the codes
given below :

I and Il only
11 and 111 only

(1)
(2)

(3) 1andHIonly

All of the above

7)

39.

[A]
38, 808 o8 D6 HbosPH wiw ©bFY
H06S" TE D ?
. Bok S sosiol s OEFO
& D0,
. ooty B O TSI 207
AR Eer%d HOROBOLIS DTEO.
L 2rds (DHSL0, Sosrds (rodo
S0¢58 DaréSo.
V. 2rds (920, 258 Sor wosio
D0y TArO DL D0
AHS 235088 FHOD adTiriod HBS
BIrTER) oo
(1) I5H8ci I
@) nssca»n
(3) 1Hdc» IV
(4) I H&osn IV

RErS Soere pach NS, BT
DArY)  DTOWS Wk T B
POYOD oS TSy, & (Eod
woTeS ©OTOD O Gotvod:
I &SNS eproren FodSh).

I 23> §@ o sogocho &od

BT HAE B55ed 9255000

L JPen, JHare H8%0d §00 DN
28 Tabadedd).

A5 adsaBS Fhok antiriod VB89

QIR WOtNF0A -

(1) 100 Il Sred

(2) 11 00 1 Sz '

(3) 1500w I SrE
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40,

41.

(18)

Consider the following Assertion (A) and
Reason (R) and choose the correct code :

Assertion (A) ;

The Parliament of India consists of the
President and two Houses.
Reason (R) ;

The President is a part of the legislature
even though he does not sit in Parliament

except for the purpose of delivering his
opening address.

Code:
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

Which of the following are among the
Fundamental Duties of citizens laid down in
the Indian Constitution 7

L. To protect the weaker sections from
social injustice.

II. To develop scientific temper and spirit of
inquiry.

[11. To preserve the rich heritage of our
composite culture,

IV. To safeguard public property and adjure
violence,

Which of the statements given above are
correct 7

(1) I1and Ilonly
(2) Tand I only
3y 11,1l and]V
4) All of the aboye

[A]
40. 808 $ydEse (A), 560 (R) HOALOD,
$B% SA% donsod ;
G)DEGe (A
roe DéDotnd’ orads, Sod
PED FOLTON.
s'¥@0 (R):

TIAHD & 3o (Ddoso §ho $d)
Eotns SrEHsn)8E TS
ariio.

E&en ¢

(1) {(A), (R) Bodhr N0 (R) 588 (A
NDBS VSO,

(A), (R) BOGr D20, SR (R) ©TD (A)
55 5B DS S,

(3) (A) D20, S°A (R) 823,

(4)  (A) €83y SR (R) D20,

o888  oergofiod  AToDS e

IrOE DS’ 806 T3S DD GO ?

L 28 oo &b 2erS
T O 6§ 0tdo0.

L TRAD  By850, dToR WA
2ofrofotido,

ML DS WFSD B0dy8 [y TO0E IR
SIS0,

IV. 92 sQod SLowudo, Srod®
od¥340.

2 30X YOWosrerd D6 HDSD ?
(1 11 DBy 1M1 S8y
@ 15080 11T Sy

@) L1585y, v
@) DI
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42,

43,

44,

(19)

Which of the fallowing entrios of the Inding

Constitution deals With the institwtions for
seiontifie o teehndenl eduention finaneod by
the Government of Inddin, wholly we in part,
i declared by Parlinmont, by law to b
institutions of national importanee ¢

(1 Entry 64
(2)  Euntry 63
) Entry 65
) Entry 66§

Wha said “Indin is not o nation in thoe
traditionnl wostorn senso but o comprohonsive
culture of continental scope compounded of n
very large numbor of lingoistic and religions
entities, highly complox and often strongly
antagonistic local cultures™ 9

(1) Carl Friedrich

(2) P Appleby

(3 Woodrow Wilson

(4)  Jawaharlal Nehra

The Constitution  confors  whieh of  the

following Articles that denies the rights to
aliens (Foreign Citizens) ?

1. Articles 29 and 30

I, Article 19
L Articles 23 and 24
IV,  Article 16

Choose the correct answer using the codes
given below :

" 20

43,

(1) 11 and 1T only
2) 1, I and IV only
(3) 111 and IV only
(4) Al of the nbove

a4,

biisll=

(4]

WO overtonod' o8 i S do
DrOUBE DE; Yo arees |D2hed 50 3One
S dfor  devey aDErSN0E,
H O (Drdvmes LONS RoReNT o
Qrjor rdotnd WESodndon 2

) doié (saare) 64

(2)  doled (SWrc) 63
(3 doLes () 65
@) doed (330red) 66

"WrBSEI0 DoBErad J s Fooest X
Bio o, s e O dopzs' ayar,
DSJHEDS eonersen, o oL,
SO wOWS DG AL
NON} yROE S8 poaross K64 BT
DO JE3” 85D S T3 ?

M) sEAS

(2) DS, 0 yE8S;

) HE doyS

@) as5berd B

L D HOKH SO0 oEded Lob D
BRSO oarjolio Harvso BRod ?

L @05 29 585w 30

Il esQ%5 19

L esQ8S 23 B8 24

V. &b s

QS 2352088 B0 andirhod B89
VPR JOTod -

(D11 So0ako M Sy

@) 1,1 500 IV Smesh

B) 111 SBaky 1v Aresh

) 23D

bl el bole Le Jal i Le
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45,

46.

47.

({20)

Consider the following statoments ; 40.

L The Preamble was enncted bofore the
enactment of the entire Constitution,

I The Preamble is o part  of the
g‘.onsti(ution but has no logal effect
indepoendeontly of other parts,

L 1tis enforceble through Courts of Law,

v,

The Objectives Resolution by Jawaharlal

Nehru finally became the foundation for
the Preamble,

Which of the statements given nbove are
incorrect ?

(1) Tand 11 only

2} and IV only
(3 land Il only
(1) L 11 and I only

Which of the following statement(s) ie/are

correct ?

L The PM CARES for Children Schomo
was launched by the Prime Minister of
India on 20" May, 2021 for the children.

II. It nims to support children who have
lost both the parents or legal guardinns
or adoptive parents or surviving parent
to Covid-19 pandemic,

Choose the correct answer using the codes

given below :

(1) BothlandIl
(2) NeitherInorll
(3) lonly

) 1 only

With child labour being mado illegal and right
to education becoming a fundamental right for
children, this right against exploitation haw
Lecome More meaningful,

Which of the following puirs of Articles provide

for right 10 Ni_ucnuo,‘ and prohibition of child
labour respectively 7

() Articles 21A and 23
2) Articles 21A and 24
(@ Articles 23 and 24
) Articles 14 and 19

[A]

800 DL SO H0MdodoA |

L 208 dnso orariofo enbend's
ool drdrofodiadod.
I, 08 orargotiod’ a8 2o e Resd

red Honodko Bow
DRV D210 Ao,

L Qd ohPare o for e
Sabadeod,

IV, 285858 Bav ogie Soso
DIBH HOLK O Sr008.

B RS DS DO Sy ?

(1 10 11 Sressh

(2) 11 DOa IV et
I sOCD 111 soedab

() LI S0ckn T Sriedad

40, 508 HILSOS' DARD HBIO 7

47.

L oo ER0 D.00, 85, RS 20 2,

202105 2r8eb (DGR (D B0Do .

I DG-10 Hrsr0 sdmomr
SDSohen Bar Shnds
NoSH Soen B Sebed Sintod)
SDBoIhen Bor #000 ady
SDSoe @ Fe'yons Heeds
G B8 130 HA &4 50,

O Rf8S FSod AiarNod JB&S

RTINSO 0N

@) 120 11 Body

(2)  1D0aty 11 Body 5

(3 1S

() 1Sl

are B0 Si89 Sehnmdo tabdo,

D% ) Dot  |D@ms Sy

Srodod, EHA8 sBlkor & 6y
00 wdSodom srsos.

800 O ud Karen SGdm Doy sy,
&0 50100 D) ewodion ? '
(1) Q8B 214 65050 23

@) OQES 214 008 24
@ Q5 25 <808 24
@ QS 14 8080 10
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48,

49.

Consider the following statements regarding

GST:

L. GST will bring more transparency to
direct tax lnws,

II. GST was the 122" Constitutional
Amendment Bill introduced in the
Parliament.

III. GSTis a destination-based tax.

Which of the statements given above isfare
correct 7

(1) IandIlonly
(2) Ilonly

(3) 1l and III only
(4) L IlandIII

Which of the bodies recommends the
distribution of the net proceeds of taxes to be
shared between the Centre and the States,
and allocation between the States, the
respective shares of such proceeds ?

(1)  NITI Aayog

(2) Finance Commisgion of India

(3) Inter State Council

(4) National Development Council

Which of the following is not the function
of the National COmmigsion for Scheduled
Castes 7
(1) Providing constitutiona) ——
Scheduled Castes, proseche

(2) To submit the report 1y the Prin;e
Minister related o fxime
Scheduled Castes, the protection 0

(3)  To investigate any case thes vi.1-tos the
interests of Scheduleg Cg;::svwlates

(4) None of the above

(21}

[al

48, 2048 Howodod (Sob |DELIOD
H8tiedodod :

L A8 08 d%) PO
2008 FEEG ¥ B0b.

I A0 6o & (DI
1225 ool Mesde dey,

M 2548 o300 ecss Hb).
28 A0DELSOS B HBSBIHBSD ?
(1) T0ckn 1T Srmghsd

(2 arsd

1 805 1T Sredsh
(4) LI S8

19, Soi0, LFO Sitdg SOSETD IS By
RO eraird) Sobd Fared, oo
Sy Seromoden, etniod oad

SO00GS  TErOR DoY) Ry

| 39087

() 5B edeh
@ 286 0% Hoo
(3) eosoa) Hodd
(4) 2805 ©DIYO Hodd

50. 808 IS DO ArS Hero FEW
SRS Y T 7
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5L Which of the fillowing is nof o function of the |81, 800 784" clardabd HE8 A% S0
Union Public S yie Commsission (UPSC) 2 (G52, 20.0) DA 28 IO ?
) Conduy eqaminations for appointments| (1) clsrmas Hso® Dalrire 80
40 the sorvioes of the Union aB5 0% Y0
@) Consulyaios on al disciplinary matters O w2y 5 Doy
81 Method of pucruitment NoBA0H
@) Manner of reservation 3 OfrSdos 568
52, Which of the following eubjects are listed in @ Sadad g8
the 11% Seh e dte? 52. 88 288 13 wanss 2he
I Women and Child Development Tobnddd 227
. Public Distribution System L (N3 D30
ML Librries I (52 Sobed S5
V. Shm Improvement and Upgradation Il fogrecire
V. Markeis and Fairs IV. S008rdo 65,0 L8k Sl =
Choose the carrect answer using the codes V. 30, 2rdten
e glev 803 23A3 Shos a3 435
1) LllandV SIPTR) Johod :
2} LILMlandIV (1) 1,11 580V
3) LILMMandV @ LI, S80IV
(4) Al of the above @ 1, IL T S8k v
53. Which of the folloving statements gare| 0 2992
correct ebuut the National Green Tribunal? |59, Fas8 (S BedS  oods 204
I It was set up under the National Green| ~ ©250%0¢ 28 43587
Tribunal Aet, 2010, L 20 a8 1S |8 s, 2010
I NGTis bound by the procedure laid (9960 oyt Fatpdod
down under the Code of Civil Procedure,| 1L 3«556. NS |2 £5 1008 1808
1908, 10UD AT $epad Botod.
I1I.  NGT has six places of sitting throughout L 524 8 3403;100' 8l PEred
the country, QOQMO e
Choose the correct answer using the eodes gg’;" 203 By anarhod 183
given below : WQI.W06 :
(1) Tonly @ : 5’@3)
@ 1and Mooy @ S0ty 1y sty
0
@ 1, Mand Il Dty gy
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5‘.

(4)

With reference to the Protection of Human
Rights {Amendment) Act, 2019, consider the
following statements about National Human
Rights Commission (NHRCY:

L. Judge of the Supreme Court can now be
appointed as Chairperson  of  the
Commussion,

II.  Term of the Chairperson and members

shall be three years,

III.  Chairperson and members shall be

eligible for re-appointment.
Which of the above statements is/are correct ?
(1) TandIonly
(2) Il and T only
I Il and 111

I only

(3

(4)

With reference to the National Commission for

Minorities, consider the following statements :

L It was set up under the National
Commission for Minorities Act, 1992.

Ministry of Welfare has notified five
religious communities under “Minority”
status, to date,

IL

It can make recommendations for the
effective implementation of safeguards
for the protection of minorities by
Central or State Governments.

Which of the above statements are correct ?
(1) IandlIl only
(2) IIand Il only
(3) I,IIandIIl

I and III only

(23)

b4,

55.

(2]

S B0 DBBER (DSON) 40,
20198 H020H0D), A SIS Sy

AN (DS rSesbh) Hoodd Sob

58I HOSHotod |

L mos® ~pchadardd adyh
EDAS BEHGIT AEHOSSED .

I, B6H6)% SO0 e HADsO0
Sl DoSed YO,

N BB38)0 00  DHibzeny A8H
DSirHsRE eden.

D DS80S DO HBIB ?

(1 150050 I aressd

(2) 110805 I Smesah

1, 1T Sdasw 111

@) 1 3nesd

‘pradh Dol EASH sonodod,

808 D530 HORBoSOA -

1 28 DTode rach LaS 4o,

1992 | 0560 Do) 0 Tchadod.

L 0D Hodss 7 anyd I6%
DD DTod TodS o Dol
e Sod S SBod.

26 %ol Tor o PHE e oo
Do Sm oo dgSosom
e90en dabhmrdd vl
TaHio.

B DEQSOS DB $BIA 2
(1) 10080 11 S,
(2) 1Bk 11 SmesHy
@ 1,11 08050 m

1 0805 1T Smeszty
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56,

57,

58.

59.

Recently, the

term “‘Chicago Convention® is

frequently *cen in the news, Which of the

following #Cctor ja it associnted with ?

1)  Car n Capture

(2)  Civil Avintion

3) Merchagng Shipping

4) orofluorocarbons

With _ Feforence to the Competition

mmission of India, consider the following

statements .

. It is o statutory body established under
Competition Act, 2002 as amended by
'ého% mpetition (Amendmont) Act,

IL It consists of o chairperson and five
membors  appointed by the Central
Government,

Which of the above etatements isfare correct ?

(1) Tonly

(2)  Ilonly

(3) Bothlandll

(4)

Neither | nor 11

National Bank fo
Development (N
the recommend
Committoe ?

¢ Agriculture and Rural
ABARD) was established on
ation of which of the following

(1}  Sivaraman Committee
(2)  Santhanam Committee
(38) Sarkaria Committee

(4)  Rajamannar Committec

‘World Competitiveness Index'
which of the following orga
(1)

(2)
(3}
4)

is reloased by
nizations ?

Institute for Management Developmont
United Nations Development Programme
World Econemic Forum

World Bank

Kautilya categorizes the Governments and

Heads of Departments into 18  tipthes
Amongst these "Dandapala” is the

(1) Maogistrate

(2) Chief Council of Ministrios

(8) Officer of the Army Department
(4) Guardian of the Forts

[24)

58,

[£]

55wt $dry SOLor
’6)63:)?_), LF A Tl BT R L L Py

SOE  enhipol, oty el wlh O
BEOITDE 80 mOoT ol
(1) 5tyS s ias
B AT
3 ole; Soolrdo
) FEFCCyD
SODSNS LInhS  wn woloirds

RODOOOD, SO (D54 el Al -
L 20 soh8aS Sain, 2092 55 Dol
SODLS (Bidmy Aun, 2T o

G T TA B RST A PRt r SR e,
Il wochd Bod (HEZbSre motrnons
BODOIS, DCEEs ST mreve
B ROoSus' DA Spas s
T Soess
2 I a3maD
(3)  T8ckn 11 Boas
4) TISonss

800 ore3s5° 1 Eonet DTN T TR oy
S5 eS8 ol Lesd

:OE
N Cr e ]

(Tl FBoSaAcA 2
FSTR0S £nat

2) domso Ennet

3 QDo ROCET e

@) o2l 5 o0t

D200 Srlsy

RODE 45 ; oS
oS 0 JB D/ oS

' TSy
(2) DI govmzang DI w3 rEss

B DJoS s ax S

[ LI P S YCWCN A (TR

!:':3::0{1-5) \53‘5,\? IR0, Daveres SN
.'bt;"q SO SQ8Bocray. Bates “ROBda"
M R ey

@ VoA Haan LR

R Dars e

S NOSE s
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Part C

Indian and Andhra Pradesh Economy and

61.

Planning

Given below are two statements, one labelled
as Assertion (A) and the other labelled as

Reason (R). Select your answer from the codes
given below,

Assertion (A) :

There iz a structural change in the
composition of National Income in India.

Reason (R) :

The process of economic growth was
initiated in India.
Codes:

(1) Both (A) and (R) are true and (R) is the
correct explanation for (A).

(2) Both (A) and (R) are true, but (R) is not
the correct explanation for (A).

(3) (A)is false, but (R) is true,

(4) (A)is true, but (R) is false,

The economist who said that the “Net Social
Product and the Social Income are one and the
game thing” is

(1) Adam Smith
(2) Alfred Marshall
(3) P.A. Samuelson
(4) J.R.Hicks

(26)

[A]
> C

©0BHS wob wold (HEH Jed wob

ardof

61, (B30 Both |DHELDN 2550 20R00. 254

ByhEde (AT, U8 $0@o (RIT Bend
B0, BihS st $he 500 &
HArCraR) Sothtod,

Bodste ()

résHHiods ah eorobo Srd)d’
DO eS8 S Gob.

sdwo (R)

o ES8Eiod
|réoBRos.

£8en:

(1) (A) DH8cs (R) Bodr dzo HB8ci (R)
@O ()8 JBS DI6.

@08 50  |1H8ch

@ (A) SBC5 (R) Bodr D20, 58 (R

(A) DB DIBE2 .
(8) (A) &3, R (R) 0.
(4) (A Qz0, 5 (R) 3.

62. “DE6 irad a8, dErds eocabo

Doty 256" @l TS edsde

M) 6% S
2) sdb Sr8d
(8) D F2rEEDS

8.u0.5r8)
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63.

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R), Select your answer from the codes
given below

Assertion (A) ;
Per Capita Income decreases in n

developing country even though National
Income increases.

Reason (R) :

The rate of growth of population is higher
than the rate of growth of National Income.

Codes:
(1) Both (A) and (R) are true, but (R) is not
the correct explanation for (A).

Both (A) and (R) are true and (R) is the
correct explanation for (A).

(A) is true, but (R) is false.
(A) is false, but (R) is true.

(2)

(3)
(4)

During which Five Year Plan was the rate
of growth of Gross Domestic Product the
highest 7

(1) 9" Five Year Plan

(2) 10" Five Year Plan

(3)  11*" Five Year Plan

(4) 12 Five Year Plan

Which of the following is nof a feature of
MGNREGS?

I. Guaranteed minimum wage employment
II. Rights-based employment scheme

I11. Generation of wage employment in rural
areas

IV. Provision of nutritious food

Choose the correct answer using the codes
given below :

(1) 1L, HandlV
2 I 11l and IV
(3) 11, HIand]y
(4) I, Ilandlll

(26)

ml

(Al

\80¢ Boch (DHE& S 25560 20000, 2,588
Babgse (nem, HTES  sémo  (Rm
Honds Sohadod. O assnas Fhe
$08 A H8rERR) J080d.

SPdsde (A ¢
il Boreho ONGHSE edSHE
Tod) GHod' dodnd soabo
SHe08,

sdwo (R) !
2raoh aoroh SO Gén Sob 237
OGO Tew IS God.
3‘5&: &
(1) (A) 2850 (R) Bodr Dzo, s (R)
B (A)S HBAS DB 5°.
@ (A) B (R) Bodr Dzo SO0
(A)8(R) DB DS &ea.
(3) (A) D20, SR (R) 5.
4 (A)&D), SN (R) D20.

D DossE WYy sood Qre
2rOTre )8 SO eehiBEom &) 7

(1) 9 HoB’SY (Der s

(2) 105 HoBSY HerPs

115 HosSY HerPE

(4) 125 DoVSY (Der Vs

& 15007’ DBH.B. 56522 0.
oS0 s 857

L 80 383 a2rd 9

IL D8 sy §D30TF HEESw

L T2 [ rodos’ Fssod 5085
GG L)

IV, DASEEX08 H8508rE 38

?m:a AS52A8 FHodH eHdriod TS
AT, JoTod -

(1) LIS8cky v

(2) LI S8asy 1v

(3) ILII S8ck 1v

L 11 %805y 111
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67.

What is the age-group of higher proportion of

working population required for Demographic
Dividend ?

(1)  15-64 years
(2) 18-865 years
(3)
(4)

18 - 60 years
15 - 60 years

Which of the following are the objectives of
Beti Bachao, Beti Padhao ?

L. To provide legal assistance to girls

Il To reduce decline in Child Sex Ratio

III.  To encourage women empowerment

IV.  To remove gender inequality

Choose the correct' answer using the codes
given below ;

(1) 11T and HI
(2) II Il and IV
3) LITandIV
(4) I, Iland IV

Given below are two statements, one labelled
as Assertion (A) and the other labelled as

Reason (R). Select your answer from the codes
given below.

Assertion (A) :

National Income growth fluctuates with
fluctuations in Agriculture growth in India.

Reason (R) :

Weather conditions, especially rains, are
uncertain in India,

Codes:

(1) Both (A) and (R) are true

and (R) is the
correct explanation for (4), '

(2) Both (A) and (R) are true, but (R) is not
the correct explanation fop (A).
(A) is true, but (R) i false,

(A) is false, but (R) jg true,

(3)
(4)

(27)

[a]

66. TITITHE AIToS TR0 BIBEBHS TS
2% 0085 W)Y SaH)-PrEro
06 ?

@ 15 - 64 0SS Yo e

(2) 18- 65 D08 yoren

(3) 18- 60 Q0SS yoren

(4) 15 =60 NoSed yoren

#8 aos, F4 sos  ofswen
18oAVS' D 2

L 29505 Toh SI'ahansoBoe
L 2roo 908 35)3 §osSH Shocses

)}

IL  S8res FOFESD 196 ) 2o

67'

&S ad b Fho® adEriod &
RaTRR) 2othEod
(1) I8 I
@ 11, [T SoBasn IV
@) LI08cwIv

@) LI SH8cky IV

GODEED (A) s, HEES :O@0 (R
Sand FohaAod. A ad85 f8e
008 D JIrETTD) Joth '

GG (A) :
Ss8Tios S S0

TOSHOS 28ch eoch S0
WSPOR HSHS0A.

5020 (R) :

TEIGD DOPehen, Jwwomr ST |
oS80S’ wdSomr aaryon.
E8exn :

(1) (A) 2B (R) Bodr dzo Bakw]
(D& (R) 58S D% S,

(A) HBakw (R) Bogr Dzo, s (R)
(3)

(A) D20, 5 (R) &3y,

BT (A8 DB D386 .
(4)

(A) 83, SV (R) Dzo




GSNGN00

69. Match the following

{28)

Last 1
a. Trade 1.

List I

Primary Sector

b. Water Supply 11 Service Sector

¢. Fisheries 1. Central Statistieal

Organisation

d. GDP V. Industrial Sector

Choose the correct answer using the codes
given below :

a b c d
1 1 1 v 111
2) 1 AY I 111
3 1l 1 I v
4 I 1 AY Il

60, & 800 SN ae WAl :
arder | ardes 11
P T e TNV I &r¢ans ol
b, D Honed 1L D Soddn

. e8yrHondG 111, ol ol KoY
A B85, IV, SO dofio
A RS5088 FhH00 addiriod N8O

DAFER) oS od :

n b ¢ d
(n 1 I v I
@ n 1w I .
@ 1 I 11 G Y
(4) 11 I v I

raoraohod TEI00 & (808 S

70. Which of the following is not included in the A7
National Income ? (1) SSSdwen SOk Bdswen
(1) Wages and Salaries (2) D) esTroHaD
(2) Tax Revenue @) weds avesn ©od Sy 5
(3) Interest Receipts from Public Debt cr2aMen
- (4)  Profits of Public Sector Undertakings () (DSssof Dode Hod S
wd eeren
following : )
71. Match the following %1800 TV 28 Dok :
List 1 List I b
a. Iron and Steel I. Perambur i Foeril
Indus!r: . RS, &y HBED 1. Ddoard
. Jute Industry 1II. Jamsh ‘
b, Ju Sopanedgur b 2IDTEHOFD 1L BIRESE
¢. Oil Refinery 111. Kolkata .
¢ DG HY¥omrrdsw 111, SS s
d. ;ntegrnl Coach IV. Barauni d &:\’Lﬁ Bew S V. 288
aclory A & A
Saird
Choose the correct answer using the codes STurSn
given below : O VB8 FBherdd AHNOD HBS
a b c d &wm‘al QOL’&Q‘OQ .
py o A @ ;‘l :.1 ¢ d
(20 ur v I 11 (2) 1 wl :v :1
@ ™ U I @ IV o
m 1 v ) 11 : o
(4) 11 1 v
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72. When the Central Bank increnses the Cosh

1‘ -

Reserve Ratio, it leads to

I.  Fall in money circulation.

II.  Low demand for goods and services.
1L
V.

Choose the correct answer using the codes
given below :

LIl and IV

Rise in purchasing power of the people,

Rise in bank’s lending capacity.

(1)
(2)
(3)
4)

I and IT only
I, Il and III

I Il and IV

Statutory Liquidity Ratio is to be maintained

by banks in the form of

I. Cash.

IL Gold

IIl. Unencumbered investments in specified
instruments. >

[V. Priority sector loans.

Choose the correct answer using the codes
given below :

11, III and IV
1, Il and IV
I, Il and IV

I, Il and I1I

(1)
{2)
(3)
(4)

Gilt edged market comprises

Treasury Bills and Government Bond
Market.

Mutual Fund Market,
Derivatives Market,
Capital Market,

(1)

(2)
(3)
(4)

(29)

(A]

72. Uoi& o &SHD Qoo HRRLLES!

73.

74.

Hodsch 2010
L (55 Seraed Sfbenod,
L 53 hiod Nod shdod.

M, Dz Soffen rddo DhMhaEod.

IV, 2rofe @300 Q50
Hheod.

Bos 255288 Fhod addrNod OB
DAreard) Jochsod :

(1) 1, 1 S08asn 1V

@ 1 00050 11 Smesh

(3) I, 11 S0acw I

(4 1,11 608 IV

SOHOBS O8:4¢5 IHYAD 2rjofuen &
drood dEgeroTd

I. .

II. 20mdam.

I JB3S o ardo B DEPachen.
IV, |25"Sied Sorresd 220,

BHS 255288 Fhod &IEriod HB
HAroaR) Sochtod

(1) I, I 00k IV

(2) I, I S008IV &

@) L1201V

(4) I, 1100k 11

AG G & S0t R ¢H)D
@ DD DV, (D 3 2ot SrT) e,
(2)  SrpoSd Dot Sro)ew.
(3) SR S0,
4)  Sreds &rd)en,
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5. Non-Performing Asset as per the current

76.

banking norms is

(1) A loan which is due during the last

90 days,

(2) A loan whose instalment of principal

and interest amount has remained
overdue for a period of 90 days.

(3 A loan whose instalment of principal

amount is overdue for a period of
90 days.

(4) A loan whose instalment of interest

amount is overdue for a period of
90 days.

Name of the committee on Indian banking and
financial sector reforms constituted by the
Government of India in 1991 is

(1)  Suresh Tendulkar Committee

(2) Committee on Financial Stability
(3) Committee on Financial System
{4) RajaJ. Chelliah Committee

Para Banking Services include the following :
1.  Credit card business

1I.  Insurance business

ITI. Credit to para military personnel

IV. Factoring services '

Choose the correct apswer using the codes
given below :

(1) LllandlV
(2) I, 1l andlV
(8) L Mandll
(4) TI,IMMandlV

(30)

75.

76.

' (3)

[a]

DS 2rofh AVOHOO D580 ASPS
@3RN T

@) 690 BTOS THOVS DV,

@ 90 BAvosH A Ay DBS
2003 BN IOV, 36,

90 OvoSH ad g NOS
200 SR IOV

B 90 ATOS FIONS 2050

38,

19915° 2rde (DEDSSo Do TS
Z88ah ergolol, &8s dof Jodysae
£oef D

00 Bodren s
(2)  2RchS DO Enes

2000 BHS Enes
@ oz 3 Togoby L

(4)

(1

o wrofofl Blded' & 1Bo8d 2amé
SO ;

L 388 5% asrssn

L D3 ardsy

IL 30" 2068 2068 20D 3¢

Clelel NSen

QDS adsandy Shod esairion 0B
QATTD) JONFoA -

(1)

@ L 3800, 1y
@ LI S8ag
4)

v,
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78.

{31)

Given below are two statements, one labelled
as Assertion (A) and the other labelled as

R.eason (R). Select your answer from the codes
given below,

Assertion (A) :

F}oods and Services Tax (GST) introduced
in 2017 is non-inflationary.

Reason (R) :
GST gystem avoids tax-on-tax.
Codes:

(1) Both (A) and (R) are true and (R) is the

correct explanation for (A).

Both (A) and (R) are true, but (R) is not
the correct explanation for (A).

Both (A) and (R) are false.
(A) is false, but (R) is true.

(2)

(3)
(4)

Match the following :
List IT
C. Rangarajan

List 1
102 Finance L
« Commission
b. 11*" Finance IL KC.Pant

Commission
c. 12" Finance

Commission
d. 13 Finance

IIL Vijay L. Kelkar

IV. AM. Khusro
Commission

Choose the correct answer using the codes
given below :

a b c d
(p U I LR ) |
2 I N I I
@3 IV 11 g
4) 1 v I

78.

79.

|80 Boh 1HELSen RS 380 20000, .88
Gansse (A) s, LTS sdwmo (R
s Wohasod. HDS asads Fho
208 & HSrTTR) Johtod.

&) D8 (A) -

20175 HoS8350S (HFIFHAS S5
36 D) (550 Sareswy,

s0@0o (R) :

S Do HA) S5VS" HAND Hed)
GOAED,

gaen :

(D) ) S (R) ToGr dzo HBAH
(A8 (R) OB a5 2.
(2)

(A) S0c%n (R) Bodr J=0, 50 (R)
38 (A)8 HBS 3B .

(A) D20, SR (R) 330,
(A) 8232, 5 (R) d20.

& 1808 D 2STowsw :
arde |

a. 105 e2@8 dogosdn 1.
b, 11 e85 Sodhsw
e 125 e85 doddAn

(3)
(@)

arda Il
. Sofior2a
II. SA.d08

L d2dh 9.
B0

d. 133 08 HomI . IV, 2%, s

OB 25088 Fhod asHairfod OB

RAFLIaTR) JotHEod

a b ¢ d
(1575 | G IV
@ o 1w I 1
® v n s 1
S S R i
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80.

81.

Given below are two statements, one labelled
as Assertion (A) and the other Inbelled as
Reason (R), Select your answer from the codes
given below,
Assertion (A) :
Budget Deficit financed by printing
currency will lead to price rise.
Reason (R) ;
More goods will be produced in the economy.
Codes:
(1) Both (A) and (R) are false.
(2) (A) is true, but (R) is not the correct
explanation of (A).
(3) Both (A) and (R) are true.
(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

Part V of the Andhra Pradesh Reorganisation

Act deals with
81.

(1) High Court.
(2) Apportionment of Assets and Liabilities.

(3) Authorisation of Expenditure and
Distribution of Revenues.
Management and Development of Water

Resources. V
LEe

(4)

Polavaram Projectis a k¢ 82.

Gtate Project funded by the Central

Government.

(2) State Project funded by funds of the
State of Andhra Pradesh.

(3) State Project funded by the States of
Andhra Pradesh and Telangana,

(4) National Project,

(1)

How many Schedules are there in the Andhra

Pradesh Reorganisation Act ? i
(1) 13 Schedules §
(2) 14 Schedules
3 15 Schedules

16 Scheduleg .

(4)

(32)
80, (806 Bod (DS BHIBO 28008, .54

Gadesn @) sm 0688 stz (RiT
Honds SchnAod. B 255085 T

508 & s3] Johsod.

&) DsCe (A) :
2T enSend €800 JBoD FD,
S0 SGen DD TOW.

500 (R) .
@lf Jp39ST oY) IWIJeD P
Sobhadarow.

g8en:
(1) (A)Sdai» (R) Bodr S3).

@ ) dzo, SH M) TS (A5 JVD

DSG SENV.
(3) (A) B (R) oA 0.
(4) (A) (R) Sodr Q0, (R) oo (A

DB DSSED.

SOIGRTT DSBSVEBE IPOS DOS

2riio A8 Ho20HODIO

(1) TP

(2) s, 2rOiSe P2,

@) ) soroire Hodds edsdo.

(4) A8 SI600 B, eDIL.

Fosdo 2S

(1) old 15D dDes oD DS

(2) SoPNEE oR Ade TIT O
(22§ dchen.

(3) WORHESE, Sworn T AR
ASE58) o3 (BE.

4) =8oh =,

SOSOBT 938 59Hs8m SPosS” I

(1 18 DelrsSen

(2) 4 0AriSey

(3 16 nerSey

4 18 ‘.163\‘6 &
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p 7EERY mERy S T .

81, Apex Council of Godnvari and Keishia rivey
water rosourees  amd Aheit - anagement

consists of
(1) Minister of  Water Resimrers,

Government of India a8 ehairperson nwl
Ministers of Tevigation of both Avelhry
Tradesh and Telangaan ns members.

(0 Prime Minister, Governuent of Trulia as
chnirperson and Ministers of Trrignion
of botls Andhra Pradesh and Telangana
a& members,

@) Minister of Water  Hesources,
Government of India as chairperson and
Ministers of Revesme of both Andhra
Pradesh and Telangana ns members,

(@) Mmister of Water resources,

- Government of India s chairperscn and
Chief Ministers of Andhra Pradesh and

Telangana as members.

Government  of  Andhra Pradesh 2
implementing  YSR Rythu Bharosa - PM
Kisan Scheme for the Lenefit of farmers of
Andhra Pradesh.

Which of the following stotements are correct
about the abave scheme ?

() T 13,5001 given o farmers fualy i
three instalments every year,
(@ 27,000 is given by Government of

Andhira Pradesh and ¥ 6,000 i given by
the Goverament of [ndia.

(3 T6000 is given by Gorerament of

Andhra Pradesh and ¥ 7000 js given by
the Government of India,

() T 13,0005 given to a farmor's family in

|133)
w, [0 %

four instalments every yea
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el

W EBL6)ST 08 WES] zedihe
$0@, Ao eoddds,
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86.

89.

One of the following welfare programmes
implemented by Government of Andhra
Pradesh 15 not part of Navaratnalu,

(1) Housing for all Poor

(2} YSR Jala Yagnam
(3} Asrogvasn
(4} Vahana Mitra

The following App developed by Government
of Andhra Pradesh is an SOS service for
women in distress or danger.

(1) Spandana

(2) Bharosa

(3) Dicha

{(4) Prajwals

The CCRC introduced by Government of

Andhra Pradesh stands for

(1) Crop Certification Residue Control to
certify organic farming.

(2y Crop Cultivation Registration on
Certificate for pledging lands for bank
loan.

(31 Crop Cultivater Rights Cﬁﬁ for
providing assistance to lease-holders,

t4) Noneof the sbove

Areawise, which of the following districts of

Andhra Pradesh is the smallest 7

(1) Parvathipyram Manyam

(2) Palnady

(3) Annamayyg

(4) Kurnool

O amo o

g iy e

Pradesh ? #ils from Andhra

(1) Sathish Sivajin.

(2) Kunjarani pe

(3) Dhruvs Chlkravnnhj

(4) Dandamyg; Rﬂ.iagopa] Rao

(34)
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1.

Part D
Geography

Consider the following statement and answer
the question.
Statement ;

It took more than a million years for the world
human population to attain the one billion
mark. But it took only 12 years for it to rise
from 5 billion to 6 billion.
Which of the following time period can be
represented from the statement ?

(1) 1950 - 1963
(2) 2008 -2021
(3) 1987 -1999
(4) 1990-2012

According to the Scheduled Castes and
Scheduled Tribes Orders (Amendment) Act,
1976, how many Scheduled Tribes are notified

in the State of Andhra Pradesh ?
(1) 31
(2) 33
(3) 385
(4) 29

As per Census of India 2011, which of the

following group of States and Union

Territories does not have Scheduled Caste

Population ?

(1) Nagaland, Sikkim, Tripura, Lakshadweep

(2) Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram

(3) Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram, Arunachal
Pradesh

(4) Dadra and Nagar Haveli, Andaman and

{35

Nicobar Islands, Tripura, Mizoram

91, 8%0b (258

93.

0D
L

5% Hofdotod, 1H¥y%
HArETS0 2508
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o &rds aarey 8 DOMS Sntiys
SeTIaTs o8 WOOHS VoIS yore Lody
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12 50330 HFOO-

808 S8S D HHOH HOJ DL Sod
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(1) 1950 - 1963

(@) 20082021

1987 — 1999

(4) 1990 -2012

DEFS Heren, NEFG S GSDO
(B380) S0, 1976 |HC0, BOEHBE
o008 D) RS Bifen SV TTH?
1 AN
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4. Mateh the following (Sex Ratio) : 04,
Lis: 1 List Ul
a. Pﬁﬁucherr_\* 1. 943
b Tamil Nagy 1L 1037
¢ Lakshadweep Il 996
4. Andhra Pradesh IV. 946
Choose the correct answer using the codes
given below -
a b c d
(v 1 I v m
RIS S IV m
S 1 m v I
@ 1 I I 1Y
What percentage of rail routes were electrified | 95.
in Indiz by March 2019 ?
(1) 45%
(2) 50°1%
(3) 7%=
(4) 6212%
96.
Mazch the following Coal-based 'lhermal
Power Stations and their States :
lYi;ljrrIu:I Power LigQ
Station) (Staze)
a. Kudg L Chhattisgarh
b. KRahalgaon I Karnataka
c. Sipat . uvp
d. Dadn IV. Bihar
Choose the correct answer using the eodes
given below :
a b c d
(1 1 I m
2) H v I 1
@ v 1 m
() 1 v o g

[A]
808 o3 ad Sabod (Dol 1)) :
oD | e 11
8. DT . 993
b, SETR I 1087
e oEAD 1. 996
d. aodNET IV. 946
ANS 231288 SHod aIHTrAoD JBS
JAFTER) docthod :
a b c d
M 1 n v oI
@ o1 v I
nom N W
@ 1 I m IV
Sr8) 2019 838 ardsBios dod TS0
B Srgren LS80 ?
(1) 45%
@ 5091%
3 7590%
4) 62129
& %08 S eros 55 536
R0 oS oFros QOFe0S:
p ;f; ::,5 % 2 De 1T
é
&a@) (O alew)
> 2 7S L Sgrey
& WD 0L oo,
L. ene V. H56
S
5283 SEo® an@Miod 33
TR JoEod -
a b
@ I ¥ e
|
@ I m 1
v I o
3 IV
@ I N m 1
v
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97.

Match the following :
Methods of Agricultural
Agricultural G pher
Regionalisation .

a. Crop 1. Weaver, Doi
combination

b. Crop 1. Bhatia, Jagbir Singh
diversification

¢. Crop 111, Chisholm, Bhatia
concentration

d. Agricultural IV. Kendall, Majid
productivity Husain, Jasbir

Singh

Choose the correct answer using the codes
given below :

a b ¢ d
(1 I 11 v 1
(2) 1I n m
(3 I I 1 v
4) I 11 v 181

Which of the following type of graseland
separates Cold Asia from Dry Asia ?

(1) Steppe

(2) Taigs

(3) Tundra

(4) Prairie

According to the Indian Forest Act, 1927,
which of the following is the most appropriate
sequence which shows the degree of protection
between different forest types 7

(1) Reserved Forest > Protected Forest >
Village Forest

(2) Protected Forest > Reserved Forest >
Village Forest

(3) Reserved Forest > Village F,
Y Rl

(4) Village Forest > Protoete
Reserved Forest d Forest >

(37)
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100, Which of the fullowing indicator species 2o [ 100, soloe¥ S’ 30850 Hadd 50,6

lol.

102,

103.

not found in Srivenkateshwara National Park
of Andhra Pradesh ?

Q) Wood stork

(2)  Cyreas baddomel
3  Red sanders
(#)  Slender lonis

Which of the fllowing is the first pipeline
constructed in India for the transportation of
crude il 7

(1) Mumbai High — Kayoli

(2) Hajira - Bijjapur - Jagdishpur
(3) Nsharkatia — Nunmati - Barauni
(4) Jamnagar - Loni

Andhra Pradesh is the sole producer of
(1) Barytes

(2) Apatite

(3) [Ironore

(4) Granite

Which of the following factors are responsible
for the higher Sugarcane production in
tropical regions as compared to sub-tropical
regions of India ?

I.  Cool nights with clear skies
II. Latitudinal position

[1L. Long hours of sunshine

fv. High temperature disparity

Choose the correet y
given below: e tbe' codes

(D
(2)
(3)
4)

I and I only

I, 1 and I only
L Mand v gp)y
1, Wand [y only

S0 1808 N0 arében W HODHoM 7
@) 585

@ el BSOS
08 dodb)
oAb SR

3
)

rd8Eios' 201008 Muces PHES 2 7
(1) SwoP P - sard

@ Sdo - Hariy b - 26buD
S 38 = D - TR

@) D6 ~ER

102, wO|BHBT o588 )BT

@ 2085y

(2 OIS

(3 DD PAAO

4) RS
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ML QerS383] 5036 ffodyen
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104. Who among the following made the first

105.

106.

attempt to demarcate Indian Agriculture into
4 macro regions ?

(1)
(2)
(3)
4)

Sengupta

Sdasyuk

Jasbir Singh
Sengupta and Sdasyuk

Which among the following statements are

true about Indian Steel Industry ?

1 India is the second largest producer of
steel in the word.

II. Indian steel industry  produced
51-89 Million Tonnes crude steel with
5:1% share in the total world production.
III, The production of steel in the year 2020
is more than the previous year.
IV. India is ranked first in the production of
crude steel.
Choose the correct answer using the codes
given below :
(1) TandIII
(2) LHNandII .
(38) landll
(4) landIV
Match the following Geographical Heritage
Sites with the States (location) :
Geographical
Heritage Sites States
a. Lonar Lake I, Odisha
b. Siwalik Fossil Park 1L Rajasthan
¢, Akal Wood Fossil  TIL. Maharashtra
Park
d. Pillow Lava at IV, Himachal
Nomira Pradesh

Choose the correct answer uging the codes
given below :
a

¢ d
n 1 4 11 v
@ m W ) G|
@ o m g
@ m W I

(39)

104,

105,

106,
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808 O 8809 SEHICI) 4 YO
@roerenn hdod e (Hahes)o Dbth
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107. Which of the following geographical series is

108,

108,

110.

ntof related tg Vindhyan system ?
(1) Bhandor Series

(2} Bijawgr Series

3)  Khondalite Series

(4} Kaimur Sories

Which of the following are a result of
depositional activity of the Himalayan rivers ?
18 River Terraces

II.  Braided Channels

1. Alluvial Fans

IV. National Levees

Choose the correct answer using the codes
given below :

(1) land Il only

(2) I, 11T and IV only
(3) I,11and I only °
(4) LILITand IV

Which of the following Southern States shares

boundaries with maximum number of Indian
States 7

(1) Telangana

(2) Karnataka

i3) Andhra Pradesh
(4) Tamil Nadu

There is & Place-A with longitude 060° West.

There i8 another Place-B with longitude
090 East,

If the local time at Place-A is 10 AM, what
would be the loeal time at Place-B 2

(1) 8PM
(2) 10PM
(3) 12PM
(4) 6PM

{40)

(2]

107, 800 e85 D 23TWE (A8 Doddy H150%
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111. Consider the following statements regarding

India :

L India has an area of 328 million sq km,
and accounts for ahout 24 percent of the
total geographical area of the world.

II.  The mainland of India extends between
latitudes 8°4° N and 37°%6° N and
longitude 68°7° E and 97°25'E.
Presently India has 28 States and
8 Union Territories,

Which of the statements given above isfare

I

correct ?
(1) Ionly
(2) TandIIonly
(3) IandIIIonly
(4) I,HandIII
112. Match the following Irrigation Projects and
their States (location) :
Irrigation Projects States
a. Parwan Multipurpose I.  Madhya
Project Pradesh and
Uttar Pradesh
b. Renukaji Dam Project I1. Uttarakhand
¢. Lakhwar III. Himachal
Multipurpose Project  Pradesh
d. Ken-Betwa Link IV. Rajasthan
Project
Choose the correct answer using the codes
given below :
a b c d
1y 1 I m
2 IV 111 I I
(3 W v o .3
(4) 1 v I 1

t41)

(2]

111, 2réSETO8 9020500 $08 (DO
56880508

1. 2688430 328 WODHY S E)
sShed Vo  O8  @od.
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142) (a]
113. Match the following Tiger Rescrves with their 113. 808 b Oabiodh o8 oFos
States (location) : 2B yob (HEH¥0) :
Tiger Reserves States @”5 az5 10 aﬁ?’w
a, Periyar I, Chhattisgarh 2. 8aSrS I: .5&7.)66
b. Sariska II.  Rajasthan ) I ozds
¢. Buxa HI. West Bengal ' L
¢ B L 535 Zord
d. Indravati IV. Kerala
d. BoEsd Iv. S
Choose the correct answer uging the codes
given below : QO HIEFESS0D JODE Takew :
n b C d o b C d
1 1 Il m v 1 u m v
(2) 1V 1 I )| 20 v 11 I I
3 v u moo @ v I m 1
4 v Im - i 4 W noa

114,

115.

Phlogopite and Pegmatite minerals are related
Lo

(1) Petroleum
(2) Miea

(3) Ironore
(4) Gold

Which of the following is currently the biggest
Thermal Power Plant (with an installed
capacity of 4,760 MW) in India ?

(1)
(2)

Mundra Thermal Power Station, Gyjarat

The Vindyachal Thermal Power Station,
Madhya Pradesh

(8) Sosan Ultra Mega Power Plant, Madhya
Pradesh

(4) Talcher Syp, Thermal

P ion,
odiska Ower Station

4 el

114, DSTDES, DS pdzren H0BOBODED
1) SDcho

@) »s
(3) 0D pR2o
4) a20mrdo

115. 808 o8S" (Hludo prosHios OB DG
G015 D35 Yol (4,760 L DD
Dgios) D8 7
(D) Sooler ¢85 2356 DAS, H2o'S
@) doogss g5 936 Bas,

DSUHTT
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116. The greatest variety (diversity) of animal and
plant £pecies can be found in

(1) Tropical Moist Forests

{2)  Temperate Deciduous Forests
(3) Taiga Region

(4)  Deserts and Savannas

117. Seasonal differences are maximum in
(1) Mid Latitudes
(2) High Latitudes
(3) Low Latitudes
(4)  Subtropics

118. What is the proper river order from North to
South ?
(1) Chenab, Jhelum, Ravi, Sutlej, Beas
(2) Jhelum, Chenab, Beas, Ravi, Sutlej
(3) Jhelum, Chenab, Ravi, Beas, Sutlej
(4) Chenab, Jhelum, Beas, Ravi, Sutlej

119. Naupada Coastal and Marine Biodiversity
Area (ICMBA) is Jocated in the district of

(1) Srikakulam

(2) Vijayanagaram

(3)  Alluri Sitharama Raju
(4) Visakhapatnam

120. Arrange the following constituents of the
atmosphere in descending order (in terms of

their quantity) :

(1) Nitrogen, Oxygen, Argon, CO,
(2) CO,, Argon, Oxygen, Nitrogen
(3)  Oxygen, Nitrogen, CO,, Argon
(4) Argon, CO,, Nitrogen, Oxygen

116. 20, 398 arhe D) BDBi08 284
DNV NI

() sRsose B edHwn
(2) DS esfoordd) edbden
(3) Tr|aroso
(4) Qe HOC DIT") en
117, 2090 Egren 500N SOLran
@ NG ST oTED
(2) eds owsoden
(8) 8503 ewsrorren
(4) adagdodkeren
118. addo Sod SITdE IBS IO EDo
Q20¢3 7
(1) BB, Beoo, 62, 5B, DarD
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